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Directions for the following 8 (eight) items :

Read the following six passages and answer the
items that follow. Your answers to these items
should be based on the passages only.

Human history abounds in claims and

P -1
assage 9.

theories confining the right of governing to a few
select citizens. Exclusion of the many is justified
on the ground that human beings may be
rightfully segregated for the good of society and
viability of the political process.

1. Which one of the following statements is least
essential as a part of the argument in the

waste streams and preserve farmland. Poor
countries, they say, can improve crop storage
and packaging and rich nations could cut back
on resource-intensive foods like meat.

Which one of the following statements best
sums up the above passage ?

(a)  The population of the world is growing
very fasl.

(b) Food security is a perennial problem
only in developing countries.

()  The world does not have enough
resources to meet the impending food
scarcity.

(d)  Food security is mcreasmgly a collective

above passage ?

(a) Man seeks control over external things
affecting him.
(b) In society, there are ‘super’ and ‘sub’

human beings.

(¢) Exceptions to unnersal ﬁm&
participation are conducwe to sysfamu:

challenge.

@3"\

[

ﬁn}, people in lndm feel that if we cut our

l defence"expenditure on weapon-building, we can

create a climate of peace with our neighbours,

efficacy. @ subsequently reducing the conflict or creating a
Go\rerr\mg\ \mphes recognition  of no-war situation. People who proclaim such
dlﬁpantleﬂ in individual capacities. ideas are either the victims of war or the

( é\\ propagators of false argument.
Passage - 2 3.  With reference to the above passage,
By 2050, the Earth's population will likely which of the following is the most valid
have swelled from seven to nine billion people. eamumeiom,
’l‘n‘ ﬁ.ll all those stomachs — while accounting for @ E:;Lllg::idni:rex?:;bzis:ler:;sv?:g:swt:::
shifting consumption patterns, climate change, against us.
and a finite amount of arable land and potable (b) The greater spending on
water ~— some experts say food production will ' wen;_m.n:huilding by us would lessen the
e g SR S — ﬁgf;;::;l::{s of armed conflict with our
“dd. ‘:p ? Experts say higher yielding crop (¢} It is necessary to have state of the art
varieties and more efficient farming methods weapons systems for national security.
will be crucial. So will waste reduction. Experts (d)  Many people in India believe that we
urge cities to reclaim nutrients and water from are wasting our  resources on
weapon-building.
B-AQN-O-KYB (2=-A)
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Passage - 4

India accounts for nearly a fifth of the
world's child deaths. In terms of numbers, it is
the highest in the world — nearly 16 lakhs every
year. Of these, more than half die in the first
month of life. Officials believe that the reason for
this is the absence of steps to propagate basic
health practices relating to breast feeding and
immunisation. Also the large reproductive
population of 2:6 crore remains bereft of care
during the critical phases of pregnancy and
post-delivery. Added to this is the prevalence of
child marriages, anaemia among young women

and lack of focus on adolescent sanitation, all of

M\@@\

Which is thg\emlca! mference that can be
\
made l'rom the above passage ?
l ‘!1

which impact child death rates.

4,

( (a)" A lot of Indians are illiterate and hence
do not recognize the value of basic
health practices.

8

Passage - §

Foods travel more than the people who eat
them. Grocery stores and supermarkets are
loaded with preserved and processed foods. This,
however, often leads to envirqnmcmal threats,
such as pollution generated by long distance food
transportation and wastage of food during
processing and transportation, destruction of
rain forests, reduced

nutritional content,

increased demand for

preservation and
packaging. Food insecurity also increases, as the
produce comes from regions that a&%nog feeding

their owns pupu!atmn pmpcrly

o\

With reference to the above passage, which of
the following statements is/are true ?

1. Consuming regionally grown food and
not depending on long travelled food is a
part of eco-friendly behaviour.

2. Food processing industry puts a burden
on our natural resources.

(b) India has a very huge population and
the government alone cannot manage
public health services, ie:ect the correct answer using the code given
clow :
() Universalization and integration of @ 1onl
maternal health and child health e
services can effectively address the
i (b) 2 only
() Bothland?2
(d) The nutrition of women in child bearing ° -
age does not affect child mortality rate. (d) Neither 1 nor 2
B-AQN-0O-KYB (4-A)
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Passage - 6

I must say that, beyond occasionally
exposing me to laughter, my constitutional
shyness has been of no disadvantage whatever.
In fact I can see that, on the contrary, it has
been all to my advantage. My hesitancy in
speech, which was once an annoyance, is now a
pleasure, Its greatest benefit has been that it
has taught me the economy of words. I have
naturally formed the habit of restraining my
thoughts. And I can now give myself the
certificate that a thoughtless word hardly ever
escapes my tongue or pen, I do not recollect ever
having had to regret anything in my speech or
writing. I have thus been spared many a mishap
and waste of time. Experience has taught me
that silence is part of the spiritual dtsmplme of-a
votary of truth. Proneness to rexa%ger&tg"”to\.
suppress or modtfy thq\ <truhth \\wltt.ltmgl,;;‘- or
unwittingly, 1s,a natural wealmess of man, and
s:lence is nec{é.ss}ur\i; in ::dir to surmount it. A
maan‘ew words will rarely be thoughtless in
his speech; he will measure every word. We find
80 many people impatient to talk. There is no
chairman of a meeting who is not pestered with
notes for permission to speak. And whenever the
permission is given the speaker generally
exceeds the time-limit, asks for more time, and
keeps on talking without permission. All this
talking can hardly be said to be of any benefit to
the world. It is so much waste of time. My
shyness has been in reality my shield and
buckler. It has allowed me to grow. It has helped
me in my discernment of truth.

p”’

B-AQN-O-KYB
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o

\

A)

The author says that a thoughtless word
hardly ever escapes his tongue or pen. Which

one of the following is nof a valid reason for
this ?

(a) He has no intention to waste his time.

(b) He believes in the economy of words.

{c)  He believes in restraining his thoughts.

(d)  He has hesitancy in his speech.

(=]

)
The most npproprm}.g\ reason for the author to
be spared manya m\:\shap is that

(;(’:) he hardly utters or writes a thoughtless
J word.

(b)  heis a man of immense patience.
(¢)  he believes thet he is a spiritual person.
(d) heis a votary of truth.

For the author, silence is necessary in order to
surmount

(a)  constitutional shyness.

(b)  hesitancy in specch.
(c)  suppression of thoughts.
(d) tendency to overstate.
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10.

11. Consid i % \ @\
. Consider the figures given be}o‘jg\:? (\
A \ W

Twelve people form a club. By picking lots,
one of them will host a dinner for all once in a
month. The number of dinners a particular
member has to host in one year is

(a) One

(b) Zero

(¢) Three

(d) Cannot be predicted

An automobile owner reduced his monthly

petrol consumption when the prices went up.
The price-consumption relationship is as
follows :

Price (in ¥ per litre) 40 50 60 75
Monthly consumption (in litres) 60 48 40 32

If the price goes up to T 80 per litre, his
expected consumption (in litres) will be

(a) 30
(b) 28
() 26
(d) 24

NatVER YA

v

1
L
§
e
[ 1
n

.\t‘ '-;|
= '\ \".

T AL LAY
\CTo@tlthe‘quesnon mark, the correct answer
is

B-AQN-0O-KYB

A
(a) ch
Fa
(b) :!'
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12,

13.

A)

Consider the following matrix :

3 8 10 2 ? 1

6 56 90 2 20 0.

What is the missing number at ‘?’ in the
matrix ?

{a) 5
(b) 0
© 7
d 3

What is the missing number X’ of the series
7,X,21,31,437

(a) 11

® 12 p @
@ 13 _ , \

d @\f\ ¢

£ N
\14.\1'01::3 cardboard pieces of specific shapes are
)

shown in the following figure :

Fog

U]

]

Which one of the following figures given can
be formed by joining these pieces together ?

W
o A1}

. (1T

(d)

(a)
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16. In a tesl, a candidate attempted only | 18.
8 questions and sccured 50% marks in each of
the questions. If he abtained a total of 40% in
the test and all questions in the test carried
equal marks, how many questions were there

in the test ?
(a) 8

(b) 10

() 15

(d 16

16. A father is nine times as old as his son and
the mother is eight times as old as the son.
The sum of the father's and the mother's age

is 51 years. What is the age of the son ?

19,

(o)

(a) 7 years
(b) 5 years
(¢} 4 years

\ @\ﬁ
) 3 5‘\&@
17.(| Four persons A, B, C and D consisting of two
married couples are in a group. Both the

women are shorter than their respective -
husbands. A is the tallest among the four. C
is taller than B. D is B's brother. In this
context, which one of the following statements
is not correct ?
(@) All four have family ties.
(b} B is the shortest-among the four.
(¢} Cis taller than D,
(d) Ais B's husband.
B-AQN-O-KYB (10-A)
[

Consider the following statements :

1. A man had a wife, two sons and two
daughters in his family.

2, The daughters were invited to a feast
and the male members of the family
went out to take part in a picnic.

3. The man's father did not return from
his work.

Which of the following statements is true ?
(a)
(b)

Only the man's wife was left at home.

It is likely that the man's wife was left
at home,

(¢) None was lefi at home.

{(d) More than one person was left at home.

Geeta : Naresh has become @ bg‘tt«e boxer
since he started medita@ian‘.\ &
Radha : lmpassibig.‘@\n{xegs most important
© assbtis ]\‘5* aggressiveness.
Radha’s'statement reflects her belief that

!
\“ \(a) meditation tends to make a person less

aggressive.

(b) meditation has little or no effect on the

person who practises it.

(e)  Naresh was a poor boxer earlier because
he was not aggressive enough.

Naresh would not have taken to
meditation as he was a boxer.

(d)

All good athletes want to win and all athletes
who want to win eat a well-balanced diet;
therefore all athletes who do not eat a
well-balanced diet are bad athletes.

The best conclusion from this statement is
that

(a)
(b)

no bad athlete wants to win.

no athlete who does not eat a
well-balanced diet is a good athlete.

(¢) every athlete who eats a well-balanced
diet is a good athlete,

(d) all athletes who want to win are good

athletes,
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15. @ qdan #, et qQemeft 3 ¥=w 8 W A
T & # W w3 gl T A 50%
3% W e | R set 3\ ol d F 40%
3w ym fe 3k olan & oft w@l & o
e A, g9 35 qlen ¥ fFe wm 9 2

8
10

(a)
(b)
(c)
(d)

15
16

16. @ foa & 3, 3e% g3 it I Hi A THR}AW

T i 3 I\ @ A I h s R
3 A i IW F AT 5194 ] | T3 A I
MR

(a) 799

(b 579

(© 49 \\_,
52 f\@\k\@%

T @9 A A, B, C 3 D 9w =ufes & fafea
gl & w9 H § 1 A1 ol e of @
TR AR E | AR FEE 90 § geR
dMwR ) chaE BASE R D, BH
w§ R | @ weM # GefeRes wu A Q
BRE T T TG R 2

aft i =uftrai 1 ofarfes daw € |
T AR H, B A o wwd R |
CH e DA M= 2 |
ABFufi R

17.

(a)
(b)
(c)

(d)

B-AQN-0O-KYB (11

18. Prafefas suEl w faam Hifdg
1. mmﬁ%wﬁmﬁﬁﬂﬁh.@lgﬂﬂt
< il off |
gﬁ@ﬁa’ﬁ@tﬁamamﬁaﬁmmaﬁt
TfaR & o e fefs w aw
|
30 et =1 fran ow wW & g @
Sicafl
fefrfgrda s s g R ?
(a) aet W A S Uoh § W W @ H
il
(b) ¥ "l ? 6 39 aredfl it ol & W
T TR T oft |
(c) =9 s oft i @ T |
(d) W TH Y A Afw

T : mﬂﬁmam(ﬁ%ﬁm)ﬁm
3, aaaﬁaﬁmmaq‘@

wr: FgE RO H\WWW
AT mj

gmmyaa%wﬁmamhﬁﬁham

(@ ©H & ygfu et =afw ® F9 smemes
A A R |

(b @ F3 T9 2fw W wE w5 T
™ Iga § @ Fo ot wme i g |

(c) ¥ VBN WUE FeE W Rk g8 I
W TG o1 |

(d) T 3, T TR F FRU, AH ARY &
& fomn g |

20. ®fi 3= flaend s arEd & o faend
dian agd € 3 oft dafem vem w@ &
area @ ot flaendl St wqferm vem T w4,
aua faendt € |
3@ %A @ watoq feed g8 e 2, &
(a) 1 GUd fgerdt e 7@ T
b i Reerdt S wgfem MR T

<ol faemdi @ § |
(¢} ¥ feard S Fgfem viem w2 =
o1 faendh |

2.

3.

19.

o

g\ﬂ

-A)
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Directions for the following 8 (eight) items :

Read the following seven passages and answer the
items that follow:. Your answers to these items
should be based on the passages only.

Passage -1

The richer States have a responsibility to
cut down carbon emissions and promote clean
energy investments. These are the States that
got electricity, grew faster and now have high
per capita income, making them capable of
sharing India’s burden of becoming eco-friendly.
Delhi, for example, can help by generating its
own clean clectricity using solar rooftop panels
or even help poor States finance their clean
energy projects. It is no secret that State
Electricity Boards, which control 95% of the
distribution network, are neck-deep in losses.
These losses further discourage State utilities
from adopting renewable energy as it is mom\

expensive than fossil fuels. \(\
- #‘
U

Whnhr am@g&\:h\} followmg is the most

Iog\wal aadﬂmuonat assumption that can
béniade f from the above passage ?

21.

!

Passage - 2

Set against a rural backdrop, ‘Stench of
kerosene’ is the story of a couple, Guleri and
Manak, who have been happily married for
several years but do nol have a child. Manak's
mother is desperate to have a grandchild to carry
on the family name. Hence, she gets Manak
remarried in Guleri’s absence. Manak, who acts
as a spectator, is
meanwhile, informed by a friend that Guleri, on
hearing about her husband's second marriage,
poured kerosene on her clothes and set fire to
them. Manak is hearlbroken and begins to live

reluctant but passive

as if he were a dead man. When his second wife
delivers a son, Manak stares at tle crf\ild\.for a
long time and é:iurts outTake hil\I\i, n:\én_\r! He
stinks of kerosene.” \ ¢

(o)

'\

,ﬁ:ﬂr
This is\a sensitive issue-based story which
tries to sensitise the readers about

(al
(b)
(c)
G

Male chauvinism and infidelity
Love and betrayal

Lack of legal safeguards for women
Influence of patriarchal mindset

(al  The richer States must lead in the Passage -3
production and adoption of renewable The ultimate aim of government is not to
energy. rule or control by fear, nor to demand obedience,
(b)  The poor States always have to depend | but conversely, to free every man from fear, that
on rich States for electricity. he may live in all possible security. In other
: words, to strengthen his natural right to exis
(¢} The State Electricity Boards can . . - z A e
) ) i and work without injury to himself or others.
improve their finances by undertaking ; ‘
_ The object of government is not change men
clean energy projects. ; 3 .
from rational beings into beasts or puppets, It
(d) The high economic disparity between | should enable them Lo develop their minds and
the rich and poor States is the major | bodies in security, and to employ their reason
cause of high carbon emissions in India. | unshackled,
B-AQN-O-KYB (12-A)
| — —
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Rrerferfaa 8 (3ms) seTon & forg g :

Frfifa ama afeger & 9T 3k 37@ 9 Im
I T & I T | T G & TS I
#ac oR=sg W & Smua g TIRT |

uftedg - 1

MeFd 9gg T H g el & R
5 3 FE7 IO F A B AR T Fl
oA § PR &1 deeifm 13 3 T
Frra) et v 2, fiem e e A
i @ gon R o et oft aafs o o = R,
fom Tl 3 YA S TEE-3EE I H T
ag F &g wem g 1 G, ewm &% fo, 3@
¥ % 0gg W al & R g o1 & SCER |
F @M A AR @ & IEm f == faued
TE |41 98 R o A IR ==s Fl
widrael % e R w6 i weg W= g
2 17z o fodt & @ 78 5 oow fomp A,
A famm vfu-se (fefgammm Yeas) & 95%
ym w1 frfe =@ €, mﬁmnﬁuﬁﬁ@gmf
£ 13 9 o o & Fwgmed (FfREw) @
i sl B I, ﬁzﬁmﬁamﬁ
ﬂﬁﬁmﬁﬁ\mﬁﬁMﬁTﬁﬁ
=T P
fiefals § ¥ SR-@ Faffls afdes ok
gioame qaemon 394w iede @ ¥ W
Tl ¢ ?
(@ T WGg T B A

Jaifes wA R AwAw # sl B

=nfee |

b T ot @ faegm & fo v wgg ol
W R vem R )

() T fagm o€ == Fat i@l

R AR o fufa & gum @
w5 g |

@ "z AR fdw vl ¥ 4N awfe
awfds s, e § afis @R
I F W FRT R |

21.

B-AQN-QO-KYB

ufeseg - 2

wu W% FEa, arv geyfa | T m,
s ol & Rt forg Fiesam et e o
TF $ w2 | OFE 1 9 @A & T R
3T Tl T@d ¥g U O 9 & fon a9 @ 2
G 9% o H RAsEh § e @ qEfenR
F0 T 2| AEE N, A Afege R ffes
o 0w B, @ 9 e o fm gf
& T et 3 ofn & Ze faar i aw g
A TG W FUGH BT F AT W A M|
TG TS w1 et g2 I & ol . @ W W
#1 Tg A sudia HE T & | TS Iah! gEl
Tl T B S R, o o A
¥ % e T § i R ge s 2, 4q@
TR | T HOER hi iy R 2 \W@\

%mﬁamfﬁmﬁmmw *l

3. L

mmﬂmm 1 YA Hl 2 2
(@) oAl - (W wfafrem) sk e
h\“ b (wRfed)
7 () @R 3R favaum

() g § fog fafvs wem & w4
(@) fogaarens oaafa & e

ufrede - 3

WEHR F TH @5 S T8 H A
Fram e 7@ 2, 3t 3 @ st 6 ana
@ &, 3w sas farle, s safte :1 = ¥
oW 0 R faed 98 | a® 4 @vE guaa e
o w6 | gE vl A A %, o oge @@ g
Tafits AfiFR 1 @9 F 8 | TER F 1|
Al @ faawdfiar =afwdl @ aga = 3% g W
Faqaferal T T 8 | STH0 ®I 39 YFH HEES
g =nifen f A it wegm @ gu o afg
iR = frwfm w3 o g% @ = o
faa=s =1 vam =3 | wnd 7 w6 |

(13-

A)
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23. Which among the following is the most
logical and rational inference that can be
made from the above passage ?

(@)  The true aim of government is to secure
the citizens their social and political

freedom.

(b) The primary concern of government is
to provide absolute social security to all
its citizens.

()  The best government is the one that
allows the citizens to enjoy absolute

liberty in all matters of life.

(d) The best government is the one that

provides absolute physical security to
the people of the country.

Passage - 4

Our municipal
understaffed. The

corporations

skills ‘
. L. VA

competencies of the staff poses an’ gven, gr\e}aterz

are

issue of

challenge. Urba\ali\ fs\eqﬁ;qes delive'ry and
infrastructure aﬂr?-\co‘l\:&nplvc:}“-ﬁ plan and execute.
T\?éy ﬁren\a‘l.llirfe; a hi'gjh degree of specialization and
L
professionalism. The current framework within
which municipal employees, including senior
management, are recruited does not adequately
factor in the technical
competencies required. Cadre and recruitment

rules only specify the bare minimum in academic

and managerial

qualifications. There is no mention of managerial
or technical competencies, or of relevant work
experience. This is the case with most municipal
corporations. They also suffer from weak

organisation design and structure.

B-AQN-O-KYB

and'\

24.

Which among the following is the most

logical and rational assumption that can
be made from the above passuge ?

{a)

(b)

(d)

o LON
" Q\ \Psgage-b’

The task of providing urban services is a
complex issue which requires the
organisational expansion of municipal
bodies all over the country,

Our cities can provide better quality of
life if our local government bodies have
adequate staff with required skills and
competencies.

Lack of skilled stafl is due to the
absence of institutions which offer the
requisite skills in city management.

Our country is not taking advantage of
the demographic dividend to manage

the problems associatéd with rapid
urbanization.

¢ o

Flamingos in large flocks in the wild are
\ social and extremely loyal. They perform group
mating dances. Parents are very fond of their

chicks, gathering them

into créches for

protection while both males and females fly off to
search for food.

25. Which among the following is the most
logical corollary to the above passage ?

(a)

(b)

(c)

(d)

(14-A)

Mass nesting in all species of birds is
essential to ensure complete survival of
their offspring.

Only birds have the capacity to develop
social behaviour and thus can do mass
nesting to raise their chicks in safety.

Social behaviour in some species of
birds increases the odds of survival in
an unsafe world.

All species of birds set up créches for
their chicks to teach them social
behaviour and loyalty.
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23, Fraffes § ® *w.m maffw anfdes ol
yfeama A (3onE) 3w oReds R
Frepren o1 g
(a) BHR F ddfgs @gd AR 6

mﬁa@mﬁmmg{mﬁm

2

@R W Wi wieR g o

TRl @l Qi AR W WeE wA

2

TS TEHR T8 ¥ A A ) Sled &
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TS WO T8 @ A W & @nil &y

Wit e WM Rt ¢ |

(b}

(e

{d)

ufeny - 4

. Fn fml # whfal f %4(
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Frut =@ € | 31 yEuRE @1 TR aeanel
1, 91 TG HF JWE I, B PG TE qAa |
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wfiren (feame) ol dremm off i @
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TS T G R 2
(@ W& Fadi F wgr g WM @ wH AEd
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< g £ AR o v werh Feert &
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e FHHar & |
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i (i fafke) oy 3

3311?;:1%» \“

c s
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Passage - 6

Vast numbers of Indian citizens without
bank accounts live in rural areas, are financially
and functionally illiterate, and have little
experience with technology. A research study
was conducted in a particular area in which
electronic wage payments in Mahatma Gandhi
National Rural Employment Guarantee Scheme
(MGNREGS) are meant to go directly to the
poor. It was observed that recipients often
assume that the village leader needs to mediate
the process, as was the case under the previous
paper-based system. Among households under
this research study area who claimed to have at
least one bank account, over a third reported

still receiving MGNREGS wages in cash directl_v\
from a village leader.

ey

26. \'ghﬁi\: ﬁ;\?\th@mt logical, rational and

Passage - 7

Individuals, and

groups leaders who
promote human development operate under
strong institutional, structural and political
constraints that affect policy ‘options. But
experience suggests broad principles for shaping
an appropriate agenda for human development.
One important finding from several decades of
human development experience is that focusing
exclusively on economic growth is problematic.
While we have good knowledge about how to
advance health and education, the causes of
growth are much less certain and growth is often
elusive. Further, an unbalanced “emphdsis on
growth is often associated wi“th licgative
environmental o copseqﬁ@ees s and adverse
distributin?lal eﬁ;ct}s{;\:\_ﬁé\ experience of China,
‘E{th i@{ﬂpl’f%iﬁe growth record, reflects these
brc&dendbm:ems and underlines the importance
of balanced that emphasize
investments in the non-income aspects of human
development.

\ﬂ

approaches

27. With reference to the above passage, consider

;:\:;\gg:_;rwsmge that is implied in the above the following statements :
) 1. In developing countries, a strong
institutional framework is the only
(@) MGNREGS should be extended only to requirement for human development
those who have a bank account. and policy options.
. 2. Human development and economic
(b)  The paper-based system of payments is growth are not always positively
more efficient than electronic payment inter-related.
in the present scenario. 3. Focusing only on human development
should be the goal of economic growth,
(c)  The goal of EIE?U‘?NC wage payments Which of the above statements is/are correct ?
was not to eliminate mediation by @ 1onl
village leaders. a4 only
(b) 2and3only
(d) It is essential to provide financial () 2only
literacy to the rural poor. (d 1,2and3
B-AQN-Q-KYB (16-A)
.
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aﬁ:mﬁ{lmmnzﬁﬁn’fa%im ﬁm t%\

ey

aqgﬁ ﬂhm i ffin waifts wfF,
m%mﬁ#wwp

(a) MGNREGS %1 wan firk 37 a% fem
a1 =g (e o S @ 2 |

(b) WM vRgwa § wP W i@ e
TN FTE WA sHae § afuws
WR

(@) WG F WIS YR w AL e F
Yl Y weaeym H G S TG o |

(@ woite ffEi N sl @iea Iwe=w
HE JEAEF B |

B-AQN-O-KYB
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28,

29.

30.

With reference to the above passage, the
following assumptions have been made :

1. Higher cconomic growth is essential to
ensure reduction in economic disparity.

2. Environmental degradation is sometimes
a consequence of economic growth,

Which of the above isfare valid
assumption/assumptions ?

(@) 1only

(b) 2only

{¢) Bothland2

(d} Neither 1 nor 2

If A runs less fast than B, and B runs as fast
but not faster than C; then, as compared to A,
C runs

(a) slower than A

(b) faster than A

(¢)  with same speed as A

(d)  Given data is not sufficient to determine

Each of A, B, C and D has 2 100, A\pays(;:z{‘}

to B, who pays ¥ 10 to C, who", gets !‘\30 fmm

D. In this context.qwh:ch one1 of the following
statements is not correc.w

|
{ar\%the nch\est
({ b)&D is the poorest.

31,

() C has more than what A and D have

together,

(d) B is richer than D.

In a town, 45% population read magazine A,

32, Examine the following statements :
1. Lady's finger is tastier than cabbage.
2. Cauliflower is tastier than lady's finger.
3.  Cabbage is not tastier than peas.
The conclusion that can be drawn from these
statements is that
(a) peas are as tasuy as lady's finger.
(b} peas are as tasty as cauliflower and
lady’s finger.
(¢) cabbage is the least tasty of the four
vegetables.
(d) cauliflower is tastier than cabbage.
)
83, Shahid and Rohit startfrom the same point in

opposite dme\ctm@)\ﬁen eath 1 km, Shahid
o always\mrn% leil-’}nnd Rohit always turns

\rlght hit) Which of the following statements is
\“ correct ?

After both have travelled 2 km, the
distance between them is 4 km.

(b) They meet after each has travelled
3 km,

(¢}  They meet for the first time after each
has travelled 4 km.

(d)  They go on without ever meeting again.

56% read magazine B, 40% read magazine C, [ 34. In a 500 metres race, B starts 45 metres
30% read magazines A and B, 15% read ahead of A, but A wins thz race while B is still
magazines B and C, 25% read magazines A 35 metres behind. What is the ratio of the
and C; and 10% read all the three magazines. speeds of A to B assuming that both start at
What percentage do not read any magazine ? the same time ?
(@) 10% (@) 25:21
®)  15% (b)  25:20
(©  20% (¢ 6:3
@ 26% @ 5:7

B-AQN-O-KYB (18-A)
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freft 7w 8, 45% m afE A ved €, 55%
@m afiem B 9gd €, 40% im 9f¥e ¢ e &,
30% @M 9 A 3 B TR &, 15% @m
gfie B 3R C wga &, 25% < ufie A ok
C Tgd §; 3R 10% @ aft & wRen v
21 o wfirem <im = ofie 73 7R 2
(a) 10%

(b) 15%

©  20%

) 25%

2.

30.

31-

B-AQN-O-KYB

82. ﬁnﬁiﬁaamﬂa?mﬂmﬁht{:
1. i, Sginf A ofies wifee R R
9. euinft, i & sifies @ e & 4
3. agmf, T R fim @ifere 78 ot )
A FoFl B 7y fred freven o1 gsar @ fe
(a) WX ot @ e grft @ Fowelt v
b X I & wRw ddt & Feh gerind

R i
(© ¥ =W afed # deinfl gad #9 wfee
Bl R
(d) Femmfl, TNt ¥ e @R
Bt R |
33. m&mﬁﬁawﬁwaf&qﬁa :Qﬁ,
ammmaai |ruﬁas1ﬁm%sara,
iR gm Fn e mﬁ%ﬁ@?ﬂaﬁ
W%Lﬁqﬁiﬁﬂﬁﬁﬂﬂmw@%"
)\ga}\ﬂ'ﬁﬂ&iﬁﬂ 7% o ol 9w A &
e, gft 4 i R
) q, 9% & 3 foft ww R % 9w, Pem
N
© 32, 579% & 4 ol w9 N F I, Teeh
TR e £ 1

b IR ssRw e

34. 500 fix f dz d, B, A d 45 fiex oM |

WREW T 8, ST A8 ofta o @ wafs B
ft ft 35 i IS T 2 | 7@ W e

3 T & w9 PN IR F@ §, A B T
%1 B 9T @, I &R 2

(a)
(b)
()
(d)

25:21
25:20
6:3

65:7

(19-A)
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35.

( "“\ﬁ\@m

3%

B-AGN-O-KYB

Two equal glasses of same type are
respectively 1/3 and 1/4 full of milk. They are
then filled up with water and the contents are
mixed in a pot. What is the ratio of milk and
water in the pot ?

(@) 7:17
(b) 1:38
(0 9:21
(d) 11:23

Out of 130 students appearing in an
examination, 62 failed in English, 52 failed in
Mathematics, whereas 24 failed in both
English and Mathematics. The number of
students who passed finally is

e\ e

(a) 40
by 50
{¢) 65

ln a group of persons travelling in a bus,
6 persons can speak Tamil, 15 can speak
Hindi and 6 can speak Gujarati. In that group
none can speak any other language. If
2 persons in the group can speak two
languages only and one person can speak all
the three languages, then how many persons
are there in the group ?

(@)
(b)
()
(d)

21
22
23
24

38.

39.

(20~-A)

In a parking area, the total number of wheels
of all the cars (four-wheeclers) and scooters/
motorbikes (two-wheelers) is 100 more than
twice the number of parked vehicles. The
number of cars parked is

(a) 35
(b) 45
(e) 50
(d) 55

The mangroves can shed tons of leaves per
acre every year; fungi and bacteria break
down this leaf litter and consume it, they then
are consumed by tiny worms and crustaceans,
which in turn feed small fish, which feed
larger fish and birds and crocddiles’

Which amongr\th%f_ followm;\m the most
logiéal mfemnc of the above statement ?

(a) Coast\al areas cannot have food chains

.
without man groves,

(b}  Mangroves are an essential component

of all marine ecosystems.

{e) Mangroves have a crucial role in some

of the coastal foud chains.

(d) The composition of marine flora and
fauna is largely determined by
mangroves.

“By liberty I mean the eager maintenance of
that atmosphere in which men have the
opportunity to be their best selves.”

Which one of the following expresses the view
implied in the above statement ?

(a) Liberty is the absence of restraint on

human action.

(b) Liberty is what law permits people to

perform.

Liberty is the ability to do what one
desires.

()

(d) Liberty is the maintenance of conditions

for the growth of human personality.
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35. T @ YR % T wweq firena waw: 1/3 3 | 38, ﬁ!ﬂmﬁm@ﬁﬁ,mﬂ“ﬂ (eR-afean argq)
/4ca A W | 7@ @ framdl = W@ & @ i G afeE (R a@)
ot A wu T, i e # W ge g (fe) qfgal 6 Fo Fem, wh fhe T A 6 wen
P e R wm ek | P @R A 00 W™ ) wh A o w A
q']:ﬂﬂaﬁmw%? TN RIR?

(a) 35
(@) 7:17 (b) 45
(b) 1:3 () 50
d) 55
W fam s0. i i # v = ok e A Rl ¥
(d 11:23 Tl & Fa% AN ey ol & W W/ w@
AMTTA T IR IIIM W T &, I& T
i 3R wefimrd @ o §, AN aewEr
. W vhen § wim 10 fenii @ @, 2 O O F A @ g fRo3 b

% E:ﬁm;? St & W;a%q‘ EEWHW wofed, vie aﬂzmﬁm%ﬂmmomﬁvﬁq\
1 rgeivi g, afs 24 frendl sidh sit v Frrfafgn & @ R w5, 394w = @
Ml # argeil gu | aifRm ww & Ienl @ 9@ mﬂﬁa’mﬁwm{?ﬂih)o%?
forenfefal 1 wem = R 2 (a) ﬁaﬁaam%ﬁm‘ 78@ &El A TR

ﬂﬁmqﬁ?ﬁ?ﬂﬁﬁl
" CB\Mw:ammmmﬁaﬁ ry —
(b} 50 ) L. ¥ wtfad e § |
() 55 @ k (0 Ffva i @@ Fams § A=
@ i A Foifas yfiem 26t 2
(d)eg\@ d T Fhea 3R whem @ g
@ u&ga: 3ma &t g futfa fa 2

37, el 7@ i e F0 A el & o wg , |40, TR A W AV TH TR A6 g
6 =ufts aftm 9w 7w §, 15 wfs A a F9 & ¢ @A B R R wft v @ o
wwd g 3R 6 sl e de T § | Sw wdi w9 8 g 1 o B 1
o A @ o e oo A | foffew 2 W o, s e
v | AR 8 W ¥ 2 =i Faw @ W ﬁ’?ﬁéﬁ‘ﬁwaﬁmmgi@

I 7 § 3 T st o de s e (a) TE=al AHENE FRSON W R W
w1 8, 78 T g 4 g e =R E 2 Y

(a) 21 () T g 8, frd frofs w0 & g
®) 22 i  fafis ) v R

(c) RN TR T S & aWA § |
. 1 @ e 6o F R
d) 24 HATETTH AT DI S @ @ |
B-AQN-0-KYB (21-A)
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Directions for the following 7 (seven) items :

Read the following six passages and answer the
items that follow. Your answers to these items
should be based on the passages only.

Passage - 1

Climate change is already making many
people hungry all over the world, by disrupting
crop yields and pushing up prices. And it is not
Just food but nutrients that are becoming scarcer
as the climate changes. It is the poorest
communities that will suffer the worst effects of
climate change, including increased hunger and
malnutrition as crop production and livelihoods
are threatened. On the other hand, poverty is a
driver of climate change, as desperate
communities resort to unsustainable use of

Passage - 2

The Global Financial Stability-Report finds
that the share of portfolio investments from
advanced economies in the total debt and equity
investments in emerging economies has doubled
in the past decade to 12 percent. The
phenomenon has implications for Indian policy
makers as foreign portfolio investments in the
debt and equity markets have been on the rise.
The phenomenon is also Nagged as a threat that
could compromise global financial stability in a
chain reaction, in the event of @Wnitedy States
Federal Reserve's imminent rcﬁersag of its

“Quantitative i!amn[!"\p%h% o]

%\

resources to meet current needs. \l
@ \42 Which among the following is the most

41. Which 1mung the'f f'olloqug\m' \he most |

logical coroﬂer:y to l.he aheve passage ?

W\
( @@p\ve\\m‘;}mnt should allocate more funds

to poverty alleviation programmes and
increase food subsidies to the poor
communities.

(b) Poverty and climate impacts reinforce
cach other and therefore we have to
re-imagine our food systems,

() All the countries of the world must
unite in fighting poverty and
malnutrition and treat poverty as a
global problem.

(d) We must stop unsustainable

agricultural practices immediately and
control food prices.

B-AQN-O-KYB (22

rational and eritical inference that can be

made from the above passage ?

(a) Foregin portfolio investments are not

good for emerging economies.

(b) Advanced economies undermine the

global financial stability,

() India should desist from accepting

foreign portfolio investments in the

future.

(d) Emerging economies are at a risk of

shock from advanced economies,

-A)

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

Ferferfya 7 (ara) wwon & forg Agw :

feffea oy ufedel & uige sk 7% 9 o

I eI & I AT | FeNW F IS I

F9 §7 h=oE W & e 87 ST |/
ufedg - 1

Yoy ofEd & w wEel 6 3§
T o Fmdi 4 g # N I A, R faw
i ags W @ v A & e & few ) ok
Foar e & w0 had @ @ T afes
Ugeh. ot i e W R § | F8 wad
# 39 ok ifem W wR H Tl @ @ R,
7o T W W @, yEet ok g %
T ¥ W, ey TEdT F T S o Y
T g 93 | gEd AR, i Sey oReds A
FE R, WG HUUAE A WA FaH
dEEEaA B W FA F oy g &
ARG (IFERAET) IR H 9T A E

. fPrefefes 4 3+, wﬁmﬁi&ﬁ@(
Fatfi e TafimTT \\qﬁ\h)\g

(a) HEHR,H] wfreﬁ mmam

ﬁﬁm*mmma@qaﬁt

(ﬁﬁ:*maﬁﬁqmmmm-
(wfetrdin) # gfy wit =fee

(b) fdFa qw o & e g W
TgEl &4 € i wafee g ol @
onferdl &t Qe 6t B |

(© fom & =ft 35 91 16 ok Fiew A
e ¥ o whge @ @ Wi sk
ﬁﬁwmmﬂﬂﬁm

I

@ T T Il (FERTEE) FN

wGiedl B dg w3 =i ok @
el 1 b Fen wfge

B-AQN-O-KYB
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frawi 4, fem mn déwifern fam w1 o fea
eI 1 AT EeR 12 TV & T R 1 @ ue
& wredila Aifq Fmfmstl w e @wfam § wife
0 g $fead g # foeeh adwifad faw
g @ 8 | 38 9T HI T 3w ft Fan .
W @ 5 e R Fewm fod A “arens
dm (Feifefea 3fm)” Hift 4 sem ssEmm
(sfre fadm) @7 i Tm #, @%’@aﬁa
m%mﬁﬁﬁﬁﬁ?ﬂamw

42 V30w uiede @, Fofefes d a4 sk
walfs adaaa s FAuigew  gEE
(zoia) Frmmen o wan R 2

@ I g onforaremail ¥ fou faRsh

Urewiferl e o= T §

(b) F7a F¥=gsEan fawm 1 fada R |
@GrEa Ft |

(©) ¥ra @ wiiw d Resh ddmfa fRg
wieR FE | g9 =fe |
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Passage - 3

disastrous when
practised in very densely populated areas, where
it is impossible to keep away human faecvs from
food and children's hands.
Groundwater is also contaminated by open
defecation. Many ingested germs and worms
spread diseases. They prevent the body from
absorbing calories and nutrients. Nearly one-half
of India’s children remain malnourished. Lakhs
of them die from preventable conditions.
Diarrhoea leaves Indians' bodies smaller on
average than thuse of people in some poorer
countries where people eat fewer calories.
Underweight mothers produce stunted babies
prone to sickness who may fail to develop their
full cognitive potential. The germs released into
environment harm rich and poor alike, even

those who use latrines. x
e

Which am{}}:g\\@f{ follnwmg is the most
?;mca! mferemce that can be made from the

N\ &
abo\'c assage ?
{ o

Open defecation is

crops, wells,

43.

(a) The Central and State governments in
India do not have enough resources to

afford a latrine for each household.

(b)  Open defecation is the most important

public health problem of India.

{c} Open defecation reduces the human

capital of India's workforee.

(@  Open defecation is a public health

problem in all developing countries.
B-AQN-O-KYB

Passage - 4

We generally ialk about democracy but
when it comes to any particular thing. we prefer
a belonging to our caste or community or
rveligion. So long as we have this kind of
temptation, our democracy will remain a phoney
kind of democracy. We must be in a position to
respect a man as a man and to extend
opportunities for development to those who
deserve them and not to those who happen to
belong to our community or race. This fact of
favouritism has been responsible for much
discontent and ill-will in our country.

44. Which one of the following statements best
sums up the above passage ? o
ta)  Our country haq a lot uf dne sity with
its Jnany_ castés, communities and
wellgxﬁns ®
o l‘rue democracy could be established by
\ prcwldmg equal opportunities to all.
& (¢ So far none of us have actually
understood the meaning of democracy.
() It will never be possible for us to
establish truly demacratic governance
in our country.
Passage - 5
The existence/establishment of formal

financial institutions that offer safe. reliable,
and alternative financial instruments is
fundamental in mobilising savings. To save,
individuals need access to safe and reliable
financial institutions, such as banks, and to
appropriate  financial  instruments and
reasonable financial incentives. Such access is
not always available to all people in developing
countries like India and more so, in rural areas.
Savings help poor houscholds manage volatility
in cash flow, smoothen consumption, and build
working capital. Poor households without access
to a formal savings mechanism encourage

immediate spending temptations.

(24-}\)

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

ufteds - 8

R #§ werem SdE A v R, W TR
Ay w99 e} Al Al H SuEER | R S @
R, &l 7 W F e, $A, @ wwiE
3R @i % Al & U T@N EvE B R | i
W (Tesar) it @@ d fee o oeem @
gefte & wan 3 | e A M orwn Ty 3k
Sl forfed e § 13 vk B SR s
Q- NN HH @EE T @ Al |
YR & TPIT M = UG 99 TEa € | I @
g, 3 et @ | 9 § R aee aovE
o | afew (srfan) & FRw s % R
sited 9 @ 37 @il @ oR § S NwET 7l
i % &, Wl | @A o s W et
W 1 Eam (sfetR) Al ¥ s
(@) 7 g v § A e § Al
AmR @ aFa § o ol g wwEREs
wwEmell (@ifafts dfme) i famfaa =@ 3
Wﬁﬂﬁ%lﬁ\mmﬁﬂﬂ?ﬁﬂq
TR & A 7 Faw i i i, af%uﬂmaﬂ""
mmmaﬁﬁaﬂaﬂmﬁsﬁqﬁgﬁél

W\,

\Eﬁﬁjﬁfﬁﬁaﬁﬁﬂﬁiﬁﬁﬁﬁaﬁzm g
sy (Fratm) Teeen o @
%9
(@ W i T i TR T S I T
wtw gawE T § o m % R
T e gem 0§ |

b) g e yiE f waEiite Teegl
Al T e R |

(©) G A WETWT, WA ¥ SR (T6-BE)
# Tegs (e Siea) § g @
2

@ g 3§ wewm ol Remle 2
AT TR 'O R |
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Passage - 6 .

steps
which would othEu;\Qi\zﬁ\,pré:ék infiringement on
the Fundamaqt:q‘l Rig\‘l&trlfnf'iﬁdividuals. such as
ﬁgﬂuiﬁjﬁ%ﬁ@éﬁhﬁ'ﬁ land against his wil), or
refusing,permission for putting up a building,
but the larger public interest for which these

=
\
Governments _may hayﬁxt?? B\la.y
I

(\@ \“

49.

45.  With reference to the above passage, consider | 47. Which among the following is the most
the following statements : logical assumption that can be made from
1. Indian financial institutions do not offer the above passage ? .

« any financial instruments to rural (al  Government should always be given
househalds to mobilise their savings, wide d@sc.retiopary power in all matters
2. Poor households tend to spend their _ of administration.
earnings/savings due to lack of access to (b) The supremacy of rules and safeguards
appropriate financial instruments. §hou1d prevail as _oppuged to the.
. influence of exclusive discretion of
Which of the statements given above is/are authority.
correct ? (e)  Parliamentary demacracy is possible
(a)  1lonly only if the Government has wider
(b)  2only discretionary power.
(¢) DBothland?2 (d) None of the above statements is a
(d) Neither 1 nor 2 logical assumption that can be made
from this passage,

46.  What is the crucial message conveyed in the [ 48. A selection is to be made for one post of
passage ? Principal and two posts of Vice-Principal.
(a) Establish more banks flmon[:;st the six candndflt_es cal!e.dflpr the
(b) Increase the Gross Domestic Product interview, only two aze eligible R the ﬁ\?ﬂ of

Principal while they_all are eligible) for the
TASE) ot el t of VicePrincipal!THe number of possibl
(¢) Increase the interest rate of bank POFS '-ce'q 1LY Wier of possible
¥ combinations of selectaes is
deposits & inkewi L
(d) Promote financial inclusion (;,L;z
(c) 8

(d) None of the above

A student has to opt for 2 subjects out of
5 subjects for a course, namely, Commerce,
Economics, Statistics, Mathematics | and
Mathematics II. Mathematics II can be
offered only if Mathematics 1 is also opted.
The number of different combinations of two
subjects which can be opted is

are done must be authorized by the people :t:: g
(Parliament). Discretionary powers to the @ 7
administration can be done away with. It is (d 8

becoming more and more difficult to keep this
power within limits as the government has
many number of tasks to perform. Where
discretion has to be used, there must be rules
and safeguards to prevent misuse of that
power. Systems have to be devised which
minimise, if not prevent, the abuse of
discretionary power. Government work must be

50. A person ordered 5 pairs of black socks and

some pairs of brown socks. The price of a
black pair was thrice that of a brown pair.
While preparing the bill, the bill clerk
interchanged the number of black and brown
pairs by mistake which increased the bill by
100%. What was the number of pairs of brown
socks in the original order ?

(a) 10
conducted within a framework of recognised by 15
rules and principles, and decisions should be () 20
similar and predictable, d 25
B-AQN-O-KYB (26-A)
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45.

46,

g

Ivfw diede & e H, Frefafes sl

forem $HifSr

1. widm e e aefv ofEr &,
arh a9 & woEw & fou w faeda
YA YTy TE B |

9. TlE sfEw, swgw facl anEi & gem A
W F Frw AT WA B 4G FW
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(a) +ad 1

(b) HaW 2

(¢ 13 23gmt

@ A@1,T8 2

?mm%mmwﬂiﬂﬁmw

(a) firs Feni i wnfda w0

(b) EHE W, IO (GDP) A g T H
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() & o (feuifoR) R = X # g

(d &wwmﬁnﬂﬁmﬁmmm“\ A

w1 4@ e, 0 oy R d 9

s saferdi diferes st w1 it w0

, 3 Figl s o & g 3w o
sfimge w61, 3 fef wam-Pmin < agefe 3
& grn wo, g R e diwfea & forg dan
frn o R, 3@ W@ (§W]) g Wit T
A JEEF R | T F PR A e
form =1 e @ 1 6, TR @ oEwl S FA
U8 © ¥, T8 Iftwn A g § wen P wie
B o1 @ 8 | Tl R w1y e g
2, 96l 30 Iife 3 e i o & f fram
W wiE sEw g afeg | A sraen i ogfe
w6 Bft, At Rl &
A FH, a@ gFan § W FH | T FE A
frdl 3k fagri & 2R % ol @ fve am
wfge, @ foln @R = @ gEipl
(fifeaee) 87 wifee |

B-AQN-O-KYB

EEm @, af I

2‘\\{: \(\g .

(27-A)

1. 9w uiese A foefafea & @ #RH,

gaffira arfde greom & 18 9 Tl & 2
(a) @R F e & ot faedi o g
ferega feammfrar R < =i
(b) TR % o= fadwiftrer &yl @R

&) oan, P sl i i wEr=a

) T A &

. U famdl ) w wewen % o 5 fawE,

ama: Iy, s, wifedt, nfm 1 3k
nftra 11 8 & 2 fawdi = g @ | 1w 11 e

off I T wwa B @ T § off g o
2 fawdt & T I T T GYT FA H
T RTR?

(a) &

(b) 6

{¢) 7

d 8

uE Sfin 3 5 AT T WA I FT AL R

TH el Sig bl @
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51

52.

The number of persons who read magazine X
only is thrice the number of persons who read
magazine Y. The number of persons who read
magazine Y only is thrice the number of
persons who read magazine X. Then, which of
the following conclusions can be drawn ?

1.  The number of persons who read both
the magazines is twice the number of
persons who read only magazine X.

2. The total number of persons who read
either one magazine or both the
magazines is twice the number of
persons who read both the magazines.

Select the correct answer using the code given
below :

(a) 1only
(b) 2only
(¢) Bothland?
(d) Neither 1nor?2
<
{ﬂ'\

The graph below depicts the eaMng\!\s
B over the period 2000 to 20101 &\ | Yt

: \
¢ }\Q\ A@

o 1
2000 2007 2010
Years ——3

From the graph, which one of the
can be concluded ?

(8) On the average A earned more than B
during this period.

On the average B earned more than A
during this period.

following

(b)

(e}

53.

54.

Two pipes A and B can independently fill a
tank completely in 20 and 30 minutes
respectively. If both the pipes are opened
simultaneously, how much time will they take
to fill the tank completely ?

{a) 10 minutes
(b) 12 minutes
{¢) 15 minutes
(d) 25 minutes

Each of the six different faces of a cube has
been coated with a different colour i.e. , V.1, B,
G, Y and O. Following information is gwen

1. Colours Y, O and B are on adjacent faces.
2. Colours I, G and Y are on adfi)aceﬁ@aces.
3. Colours g G and Yydre on adjagent faces.

o
Colours 0 \Y % B are on adjacent faces.
Wh"zh is! the calour of the face opposite to the

face =c9]oured with O ?
\ﬂ

0 G
d I

66. Consider the following statements followed by

two conclusions :

Statements : Some men are great.

Some men are wise.

Men are either great or wise.
Some men are neither great
nor wise.

Which one of the following is correct ?
(a)

Conclusion I :
Conclusion II :

Only conclusion I is valid

The earnings of A and B were equal (b}  Only conclusion II is valid
during this period. .
(@ The earnings of A were less as (c)  Both the conclusions are valid
compared to B during this period. (d)  Neither of the conclusions is valid
B-AQN-0O-KYB (28-A)
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51.

52.

B-AQN-O-KYB

fads afet X 7% T0 safved) Y s, ah
Y wg) T =afedl ) gen i W TR
% e Y o I afwn fowe,
qfi X Yed It gl ht g 4 e TR
R m, Pefefes ¥ 3 SRR fesd
Preren/frre w1 wRm/ARA B8 ?
1. 2R ufyed ver Tt =l ) wen, ek
of¥en X vat AR = A wen @ g
2

9. I =il ) HE O N WA P |

o Ted ¥ a3 ofed ugn ¥, SR
yiyed ugd T safed e A g
21

£ Ra 7 T F WA wEE TN GO

(a) F&1

(b) a2

(@ 1 323

(d Fd1,ad2

4 fu T aRE () # A3l B =
2000 ~ 2010mﬁ1$13q1ﬁ=|ﬁﬁm

adnS -
Sz

2000

y/\
o
o

2007 2010

q4 —>

3 ew ¥, Frefafaa 3 & s o fewd

fremn s wwm & 2

(a) 7@ &R F W, e WA AT B R
afors 3nfSie R |

(b) W aEfy & um, e = A BA AR
ot smfite e |

(©) ;:a{aﬁta;am A 3R B % I TWH

|

@ W &y F O, AW WA B #
e ) gorn § ww o

NY?

(29-A)

63. < 7o A ai B Rl S @1 e wAw:

20 3tk 30 fire A qu R & 1 AR QA @
w oY B feu o, & SR i gl g A A
3= e 7w &am 2

(a) 107
b 12fme
© 150me
@ 25fme

. T W % @ i wewl o ] TS @t fm

o, i, V,1,B,G Y3 oA tmmn 2 |
froerferfem g A R -

1. Y, 03N BEEH Ferehi WE |

2 miﬁﬁ\wmmwﬁl

3 mBGaﬂwmqﬁaﬁm m
4. tno‘\.refhﬂtm:ﬂﬂ{3 m‘g‘|
omoi’nﬁ% %ﬁﬁg@mm‘aﬂﬂmm

(b)
(c)
(d)

. fR fr s o T MR Ry e @

ﬁﬁﬁﬂq’iﬁi‘l{m:

FU7;  FO oA TR A 8 |

3o =t gfgm e € |

= @ 1 TeE ae & a1 g |
%o =fv 7 @ T B ¥, 7 @
qignm |
frffam i A dRa @ ad R 9

(a) e frend 13y R
(b) <haw freed 11 3u R
(c) Zﬁiﬁ'ﬁﬁﬁaﬂg )
(d) R E A i o Frewd Sy 7 @

e |
ﬁﬁ:"fﬂ:
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56. Consider the following statements : 69. The proportion of expenditure on various
1. Some claim to have seen UFQOs items by two families A and B are represented
(Unidentified Flying Objects). in the following Bar Charts :
2. Life on other heavenly bodies is |-
considered to be a possibility. 0% Food
3. Voyage to space is now an established
; 50%
act.
Food 60%
From the above statements, it may be Other
concluded that items
(a)  UFOs are heavenly bodies 30%
(b) UFOs are sent from other heavenly cher
bodies - 30%
(¢) Some living species in other heavenly 20% Educ'::ion
bodies are more intelligent than man Education ‘
(d) Nothing definite can be said about the
Total expenditure : Total expenditure :
57. 1f ABC x DEED = ABCABC; where A, B, C, D ¥ 20,000 per month ¥ 1,00,000 péf month
and E are different digits, what are the values \ \
9
'(’:)D “Edfz: - From these cﬂarts’@etcﬁ:} ontlude that
(b} D=0, E=1 ta)@amﬂy A* spent more money on food
e/ D=1, E=0 . .:t.hdn Family B,
(dd D=1, E=2 \
'S (\m Family B spent more n food
woney on too
88. Year-wise vanauon of Lheﬁpr%ce\}af a ‘certain Y

Ve (S than Family A.
commodity rs(shov(\n“it{ he follﬁwmg graph :

T fi?- E\- B % BaREhatt! . () Family A and Family B spent the same
P ; amount on food.
40k
g & |
& 30 ! (d)  The expenditure on food by Family A
E sl E and Family B cannot be compared.
8 1
£ 10t :
. 1
0 1 1 )
1880 1990 2000 2010 60. Usha runs faster than Kamala, Priti runs
Years —» slower than Swati, Swati runs slower than
Kamala. Who is the slowest runner ?
The ori -
e price of the commodity in the year 1990 (a) Kamala
(@) must have been T 10/-
(b)  must have been T 12. (b)  Priti
(¢) must have been anywhere between :
T 10/ and T 20/- " .
(d) is higher than that in the year 1991 (d) Usha
B-AQN-O-KYB (30-A)
1
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56. frfifea woEl w faam Hifsw §9. @) ufEmi, A 3l B, gr fafim Wl w fame M
1. FB @M UFOs (3P 387 awifal) e o I Frfafes deafeEl (ar 9wE)
w3 R W wa@ _ % fref frm 2 -
2. ﬁ:rmﬁagulﬁvﬁmm#m e
3. orafty W 3 U TS Ae R | 50%
IF wA A, 78 Frewd P o T 2 W T i
& Rl
(a) UFO @Ml five § -
(b) UFO = @nieiy fivgi @ 93 9 § o
(0) @ vl # @A Il 36 wivtw 30%
g & e 3 & e o
@ UFO & @t # 7o ff Afm =9 & s "
FE T Gl
67. 3R ABC x DEED = ABCABC; 7%l A, B, C, D P ﬁﬁé:o@ ‘Q}
ok E A 3% §, A Dok EF TH  § 7 ¥ 20,000 3t AT \“'00'00“%%\1
= = o . (—\\. o
::: gﬁ“ gﬁgﬁ.w?ﬁﬁ%mmm
(¢ D=1, E=0 \ T
: (a), IRAR A7 W 9G4 W 9RER B i 3nan
@ 0=l k=2 nﬂﬁ\@h\ﬂ %aﬂﬁiﬁ'@éﬁa‘ml
88, : Q@::}
(b) 9fER B3 @ e waf@r A F R
aftrs @« fram |
(¢) vhEm A 3 qREm B 7 @ g2 wWEnm
T @ A
(@ ufEr A 3R WfEr B g @ waid w
i e e ) geEn T B I T
{580 19% 2000 2010 60, W, wuen ¥ o e ¥; ffx, =l A o
T — et }; wf, Fuen § MW AsA 2 ) N
T 1990 % aeg Ht g o #. dedht @ 2
(a) 9@ T 10/- W Trft @) T
(b) 3@ T 1. avft o il
(c) AW T 10/- ¥R T 20 & ftg &l it
@ gt (¢ w&fa
(@ Iuh T 1991 6 Fwa ¥ rfir R d

B-AQN-O-KYB (31

ik}
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Directions for the following 7 (seven) items :
Read the following four passages and answer the
items that follow. Your answers to these items

should be based on the passages only.

Passage - 1

India has suffered from persistent high
inflation. Increase in administered prices,
demand and supply imbalances, imported
inflation aggravated by rupee depreciation, and
speculation — have combined to keep high
inflation going. If there is an element common to
all of them, it is that many of them are the
outcomes of economic reforms. India’s
vulnerability to the effects of changes in
international prices has increased with trade
liberalisation. The effort to reduce subsidies has
resulted in a continuous increase in the prices of
commoditics that are administered.

62.

o

In the light of the argument in the above
passage, which one of the following
statements is the most convincing
explanation ?

(a) The Right of personal property is a
Natural Right duly supported by

statutes and seriptures.

(b) Personal property is a theft and an
instrument of exploitation. The Right of
personal property is therefore violative

of economic justice,

(¢) The Right of personal property is
violative of distributive justice and

negates the principle of cooperation.

(d)  The comprehensive idea of economic

justice demands that thg Rigl}}\\uf each
person to acquisition of p\(op'ia\{'iy has to
be reconciled with that of otht'rs'.\

o % A\\ e

\Pa@ga -3
c

61.

(

What is the most logical, rational /aud\
crucial message that is irnpli\t;tji9 ivﬁ,th\e Above'

passage ? ¢ %

" A . ;
{a)  Under lhi\!_ {sq@t:cwgumstmces, India
should~| complelely avoid all trade
libaral\giagion policies and all subsidies,
tl@\l)ue to its peculiar socio-economic
® ol 2
situation, India is not yet ready for

trade liberalisation process.

Thejconflict between man and State is as
oldias State history. Although attempts have
been made for centuries to bring about a proper
adjustment between the competing claims of
State and the individual, the solution seems to
be still far off. This is primarily because of the
dynamic nature of human society where old
values and ideas constantly vield place to new
ones. It is obvious that if individuals are allowed

()  There is no snlut?nn_in sight for the { to have absolute freedom of speech and action,
problems of continuing poverty and | o reult would be chaos, ruin and anarchy.
inflation in India in the near future.

(d) E_cum_smic .refurms can often create a |63, The author's viewpoint can be best summed
high inflation economy. up in which of the following statements ?

Passage - 2 (a)  The conflict between the claims of State

No Right is absolute, exclusive or inviolable. and {ndividual remains unresolved.

The Right of personal property, similarly, has to (b) An.ml'::y ¢ ;nd chaos 33’? the obvious
be perceived in the larger context of its assumed B CERealE Sagings,
legitimacy. The Right of personal property © g:d ;:;lu:;‘s, 1:1!%3 af’d tmdxtion;; l;:ersist
should unite the principle of liberty with that of so;':w v TR RARR O DN
equality, and both with the principl .

c:O : :tion 0 princips of (d) Constitutional guarantee of freedom of

be . speech is not in the interest of society.
B-AQN-0-KYB (32-A)
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Rrerferfem 7 () weren @ forg A :
frfefan wm ufiegel & R ok 37% 9 I
e XA & IR AT | 37 Fenal F 9 IW
Fae 57 TReoe W & smnfia g TIfkT /
afesg - 1

WRA dad 3= ERAR A TR @ R
frifira et o gfg, win afk qfd & swigem, T
% aared ¥ wem g wmfm guehifi, ok
wgafl — ' P 3= i F emn
@ R | afe @ oft d PR e e R, @ 9
ug ® fi5 1 & % enfds guni & oform ¥ )
=i Hivdi 9 aged S awEl F ufa wiw
Paar  (FerfEd) =R fiem F
gAYy IR TE } | IEEL B FA FA S @@
& ol T aege i Hvwi d Frem g g A
efem € 1

61. I uf=eg A =i Fafw wfds,

e il Hgrgul waw w0 R 2

(a) Hig wRiEuf H, s W g\owe
mmﬁﬂﬁﬁ@qﬂimﬁ
CEEC A Y \\1 9B

by s _fafire, mmﬁaa.am‘ﬂm fufs %
m/ﬁmwﬂmmﬁmmﬁmzﬁ
sfiwan ¥ fore R 7 R |

() Froe wfss § v A wam fnbmar @
'gsgfﬁliﬁtmaﬁmaﬁiwuﬁqﬁ

|

@ onfhs guR wa: I=m pEredfy e
RS I TS § |

ey - 2

w1 ) afteR T, s ek
2| 7 o, =few ol ¥ afier ®
el wfewm dua & gew wed F @ W
=Ry, | =afeeme Aty & e §, @aEa %
forgr =1 wvn & Rigra % am, ol @ ot o
wgdm & figr & @y aug @ SR |

B-AQN-O-KYB

RaadheytheVisiion | | Contact us

(33-

62, IWw uimor # fu U % ¥ el H,
Prefafiaa § & S & w91 a9 I0F
farvarasg wreiawor 80
(a) =t Tofe @ afusr, Sfafm it

gz g faftmm wafda, w Seffs
aftmn 2 |
(b) =ufeer wfe o 98 R o oww @

IV @ | 3 A weta w1 A

anfifes = &1 IeaiEA § |

fima wwfa w1 iR o =/ =

IeeUA B 91 TEam & fag | T

2

i = &1 =ANE feR W@ 9w f

mm%f&smaﬁsmmﬁrm

(c)

(d)

Qm%nmw&mﬁm%
mﬁmwmﬁiwﬁwﬁﬁﬁww
ywﬁﬁ%uﬁmcﬁaﬁaﬁaﬂamaﬁﬁ%m
' 8, Forg wmumw anfl oft ot wefiw @ R 1w
yeud: e ® s wre wm sl
nfofie 2 fomd g el ik frew 3 frem T
iRt N emtat meaedf
e =fwdl | AR 3k wE wE A Friy
e & &, Jae gitom s, e
TE a8 T R |
83, frafafan sl 4 @ sma w, dus &

Fiewior w1 wEtew arTr WegE w2
(@ U IR =afs F & & 49 g
FAGETH T B R |
(b) SRWEHN R eEw  SaitE
gt & wEnfas afom €
e wErE fionfadfe
gﬁﬂawﬁaﬂmgzgqaﬁa?fﬂ
|
(d) 9% W (Ren A wiE) @
aﬁmﬁmm@mé\afzﬂnm%I

{c)

A)
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Passage - 4

Climate change is a complex policy issue
with major implications in terms of finance. All
actions to address climate change ultimately
involve costs. Funding is vital for countries like
India to design and implement adaptation and
mitigation plans and projects, Lack of funding is
a large impediment to implementing adaptation
plans. The scale and magnitude of the financial
support required by developing countries to
enhance their domestic mitigation and
adaptation actions are a matter of intense debate
in the multilateral negotiations under the
United Nations Framework Convention on
Climate Change (UNFCCC). The Convention
squarely puts the responsibility for provision of
financial support on the developed countries,
taking into account their contribution to the
stock of greenhouse gases (GHGs) in the
atmosphere. Given the magnitude of the task
and the funds required, domestic finances are
likely to fall short of the current andy projected\
needs of the developing countries. Global’anéliﬁé
through the multilateral m(:-ch.mls-.m\\oi‘5 the
Convention will enham:e thmr domestic capacity
to finance the mmgamon efforts
A AV
6@( Ac:.ordmg to the passage, which of the

fnllowmg is/are a matter of intense debate in
the multilateral negotiations under UNFCCC
regarding the role of developing countries in
climate change ?

66. In this passage, the Convention puts the
responsibility for the provision of financial

support on the developed countries because

of

1. their higher level of per capita incomes.

2.  their large quantum of GDP.

3. their large contribution to the stock of

GHGs in the atmosphere.
Select the correct answer using the code given

below :

(a) 1only

(b 1and2only
()  Jonly

(d 1,2and3

o]

66. With mgat’du to dwelopmﬂ countries, it can
be inferred, frafi \the Passage that climate

W
o changéelis likely te.have implications on their

1\

Select the correct answer using the code given

domestic finances.

capacity for multilateral trade.

below :

(@) 1lonly

(b)  2only

(¢) Bothland2

td}  Neither 1 nor?

. ) ; 7. Whi f ing is essent
1. The scale and size of required financial 8 di = {:m :;1 Lhe. 'ﬁ:llc;“mg 1% Sawmiially
support, iscussed in the passage ?
2. The crop loss due to climate change in the ) (l'm_'i}'ﬂ. betwectp .develt—med and
developing countrias. developing countries regarding support
for mitigation
3. To cohance the mitigation and adaptation b 0 { el
actions in the developing countries. ( SORMSIICE 3 r:h.nm} e change due to
excessive  exploitation of  natural
Eelloct the correct answer using the code given resources by the develope countries
clow :
by it {¢©)  Lack of political will on the part of all
- the countries to implement adaptation
(b) 2and 3 only plans
(¢) land3only (d) Governance problems of developing
(d) 1,2and3 countries as a result of climate change
B-AQN-0O-KYB (34-A)
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afesg - 4

veary viedd @ T i e g R
N 9 | = T Sre § | Sy oiadd 8
fived T & warE # o @G Wi § | Wi
¥ W F f, smged (dRwA) a9 pfwm
(Rfehea) $1 domel ok il &
e it T & fou e (wfe)
sawEs # | fifa = ovvra arggem dieFnelt %
wEl<E § G 99 a1 @ | Jeey TREdd |
I U FAa® Save (TS A9 e
Faym AH FEEAC W9) (UNFCCC) % =it
ageata awaiel , Remdfla ool gu o W
FEW W IHER FEI & waUd & fow
stfm fof wemar &1 Yo @ oo w9
= % fowm € ) 9@ woen fosfm oW W,
anies U AR Al (GHGs) % 9w ¥ &
AMeA % 3R W, ol wema & grvE w@
1 = | Reiek so @ | 39 wE A A
a1 3% fo Fftl i smavsa 9 @ W@,
forrnfier Zuil 61 sl aon sgE (d5e2e)
mmmaﬁm%vwﬂﬁﬁﬁiﬂuwwm\
maﬁiw%h\wm(ﬁm)ﬁﬁ
E@Eﬂﬂﬁmﬁﬁ:ﬂmw ‘\qmaﬁam
ﬁtﬂmz['ﬂmw,w@ﬁﬁaﬁm%%qmﬁ
ﬂﬂmﬁqﬁml

M%W%mmmﬁ

forrasfte 2wt 1 yfew & @ad # UNFCCC
% aaia agua el d, foofafes § @
FA-T/A, TEa =l w145 g 8 0

1. uiea forea gemar =1 4o aor fe |

2. fowmediie i ¥ ey iwd & ww
R 9Tl 39 & 7 |

F= fog o e w1 wam a wd I gh
(a) &= |

(b) Wae 2 30 3

() Faet 1313

(d 1,233

B-AQN-O-KYB

(35—

65. 38 uftede H, 9§ guieH fawfaa o W fadm
ERal 1 YEYE wE @ gl fFE sRe
T 8 ?

1. 3 v =i o F1 3= W |

2. 3% GDP i A= =m |

3. aguea ¥ MAREE Nl (GHGs) & W™
% 39 9 AR |

#= fer U e w0 W@ W ol Iw g

(a) Fa9 1

(b) Fae 132

() %aw 3

@ 1,23R3

66. fowmde o & w=y #, frﬁ?ézﬁ.\uz

mﬁmmm%ﬁm ¥
= e A0\ W@:\\

i tﬁqﬁrﬂ qa:ﬁ’a\nﬁ?l%t

s \\ N

2 Eﬂuxmﬁmmmm
B\ﬁ Faﬂﬁlﬁl

ﬁﬁﬁﬂﬁmmmaﬁmgﬁq

) *ad 1

(m A2

(©) 13f 23

@ FIM1ad2

67. 34 uitede 1, frafafes # | fsm & w
Hfars: foem-fms fFm mn &2

(a) I 7F WEEA 1 % 9N H, Gehm
af fywmasfier 29l & <= o

b fefm W o wehe dew &
;mﬁmam%mmmw

(©) FTFTA AGNA F Fifaa w9 § @
it R Tifes Toomts 3 w0

(d) SeEg uiEdd % cfom F FRw,
ferresfier 29 A v Tt

A)
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68.

69,

70.

Between 6 PM and 7 PM the minute hand of 2
clock will be ahead of the hour hand by
3 minutes at

(a) 6:15PM
(b) 6:18PM
(e) 6:36 PM
(d) 6:48 PM

There are 5 tasks and 5 persons. Task-1
cannot be assigned to either person-1. or
person-2. Task-2 must be assigned to either
person-3 or person-4. Every person is to be
assigned one task. In how many ways can the
assignment be done ?

(a) 6
(b 12
() 24
(d) 144

The monthly incomes of Peter and Pau] a@ n
the ratio of 4 : 3. Their \expens-es hre\m\me
ratio of 3 : 24If each savesﬁ 6, UGO’at the end

\°

Directions for the following 2 (two) items :

Read the following passage and answer the 2 (two)
items that follow :

A, B, C, D, E and F are cousins. No two cousins
are of the same age, but all have birthdays on
the same day of the same month. The youngest
is 17 years old and the oldest E is 22 years old. F
is somewhere between B and D in age. A is older
than B. C is older than D. A is one year older
than C.

72.

Which one of the following is possible ?

X\

(a)
(b
(©) Fis19yearsold

) Eis2‘:6.yea’{a‘):an«gL °

D is 20 years old
Fis 18 years old

\\'ﬁ% is' the number of logically possible

orders of all six cousins in terms of i increasing
age?

(a) 1
of the momh' \lhen'; monthly incomes
2 U b 2
reape\ctwealy\g_r;e {m ?)
\C:d;\\__, 24,000 and 18,000 w3
(b) 28,000 and 21,000 CUR
(e) 32,000 and 24,000
(d) 34,000 and 26,000 74. In a society it is customary for friends of the
same sex to hug and for friends of opposite sex
N to shake hands when they meet. A group of
71, Two cities A and B are 360 km apart. A car friends met in a party and there were
goes from A to B with a speed of 40 knvhr and 24 handshakes.
:;teu::s:uA wn:da ;}:;ed of 62 km/hr, What is Which one among the following numbers
average speed ol the car indicates the possible number of hugs ?
ta' 46 km/hr (a) 39
() 50 km/hr © 21
(d) 55 km/hr
(d) 20
B-AQN-0-KYB (36-A)
.

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

s § ol s=fte § | -, A =1
sqal -2 1 T8 G o weear | wR2, W
A =fF.3 # wa w4 B @ B s
aifge | & =R # G w1 o s ? | e

69,

fere afieni & foan n v B 2
(a) 6
b 12
(c) 24
(d) 144
70. dit 3 et K Wiww M 423 F HIH M\ﬁ,
3% = 3 2%313\113:1%!"&1% |

mumaﬁﬁ\a ,ooo;ﬁlmm% E
T mﬁi@_\\ (:r )\m g 2

(@)= 94,000 31‘rt 13 ooa
téi 28, 0&0 3t 21,000
(e 32,0003?\1.24.000

(d) 34,000 3K 26,000

71 QA W, AN B, R A 360 km N T W

21 FAY BTF 40 km/hr I 99 @
T & 31K 60 kmvhr ) 9 @ A T T TRl
BIFRA AT T RR ?

45 km/hr
48 km/hr
50 lkem/hr

(a)
(b)
{c)

(d) 556 km/hr

B-AQN-O-KYB

{87

Rerferfem 2 (gt) saon & ferg g :

2 (7}) wren & I G

A, B,C, D, E 3t Fa=t ui & (@ Rt 91 ==t
W & d W F A €, e i owE @
A e 6 @ & @ F TEa@ | TR B
o Fm eI TR A E, 2T WL ) FW
A BaARDEATHE 1 A B 351 a9
grcepadmimmidl Aci e R |

(a)
(b)
(e
(d)

X\

—

72. feffmiashawamd
D, 204 &I B
F,18ad &1 8
F, 1934 7 8 \(\ .
Fﬂ:ﬂm\@

«rs.\“ iﬁ‘il’%’tqu’laﬂ TGl §§ I H AU K,
mﬁm%ﬁmﬁaﬁmﬁmm%'?

1
tb} 2
(e) 3
@ 4
74, Tt gur A 98 fars @ 6w @ fom & fm
firer qwa T-gE % M@ T W fiew €, el
faatla fom & fm foed T wHeEl ¥ A
fremre frerd € | oo widl W firdli & o TR &
firem W 24 T 71w firemu Mo |
frafefen § § SR & gen, ™ T f
(a) 39
(b) 30
() 21
@ 20

A)
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76.

76.

7.

Two men, Anil and David, and two women,
Shabnam and Rekha are in a sales group.
Only two speak Tamil. The other two speak
Marathi. Only one man and one woman can
drive a car. Shabnam speaks Marathi. Anil
speaks Tamil. Both Rekha and David can
drive.

Which of the following statements is true ?
(a) Both the Tamil speakers can drive a

car.

Both the Marathi speakers can drive a
car,

(b)

(¢)  Both of those whe can drive a car speak

Marathi.

(d)  One of those who can drive a car speaks

Tamil,

In a plane, line X is perpendicular to line Y
and parallel to line Z; line U is perpendicular
to both lines V and W; line X is perpendlcular
to line V, 3\

%

Which one of the follomng" atatements*’fs

correct ? f\ @\

(@) Z,U &ndWare parallal\

\Cﬂf\x{ ‘}a\:}d)‘f are parallel,

(c)
(d)

Z,V and U are all perpendicular to W.
Y, V and W are parallel.

A cow costs more than 4 goats but less than
5 goats. If a goat costs between T 600 and
T 800, which of the following is 2 most valid
conclusion ?

78. A society consists of only two types of people
— fighters and cowards. Two cowards are
always friends. A fighter and a coward are
always enemies. Fighters are indifferent to
one another. If A and B are enemies, C and D
are friends, E and F are indifferent to each
other, A and E are not enemies, while Band F
are enemies,

Which of the following statements is correct ?

(a) B, C and F are cowards.
(b) A, E and F are fighters.
(c) BandE are in the same category.

(d) A and F are in different categories.

(&)

79. In a box of marbles, there are tﬁree Iess white
marhles than ﬂ'l&\ reﬁd\ones and ﬁve more
white marbles than thc green ones. If there

(=]

ar\gﬁ a mta] of 10 white marbles, how many
j\- \marbles are there in the box ?

! (a) 26
(b) 28
(© 32
(d) 36

80. Candidates in a competitive examination
consisted of 60% men and 40% women.
70% men and 75% women cleared the
qualifying test and entered the final test
where 80% men and 70% women were
successful.

(a) A cow costs more than ¥ 2,500. Which of the following statements is correct ?
(b) A cow costs less than ¥ 3,600. (a) Success rate is higher for women.
() A cow costs between ¥ 2,600 and (b)  Overall success rate is below 50%.
T 3,800. (e)  More men cleared the examination than
(d A cow costs between ¥ 2,400 and women.
T 4,000. (d)  Both (a) and (b) above are correct.
B-AQN-O-KYB (3B8-A)
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75, @ ey, e o 3firs, ¥ 3 wfgend, wem | 78,
3k Y@, w fear g X ¥ | FEw QA
afvenndt § 1 3= & wodhmd § | w0 A Faw
T 9 3R T Rfgen FR I o ¢ | e
mudtard 1 e afremd R 1 Yen of e
21 HR T wHa B |

frefafgr i d SR s A R 2
(a) 2 afrermdt e @ § |
(b) gFl wudmdt S e wea §
(¢) 2 FR IeR T, "o § |
(d) R TAH I A ¥ Th, aftenmd R |

76. TH WHAG W, @ X, W@ Y F e & | 79,
T 2% T 3 Y@ U, @ vkt wae
% e & YaT X, 1@ v seE f |
frefrfam i d FRm wmFm i R 7

@ 2, U3hw e | \j\ﬂC\ﬂ

(b) xvaﬂwmm%
»
© 7 vaﬂwu\tfmﬁ%ﬁ |

\f‘n Y %’%’lﬁt%l

77. & TR w4 T B Fivg | i R
Aff 5 aHia B Fima A 79 3 | AR
5 H Fa T 600 3R ¢ 800 F = R, &
Frafefs i & #.m, waifvr do A 20

(a) U T A fma #25008 At |
(b) TR MY & Hivd 73,6008 F1 L |
©) U TT H Fa € 2,600 3 T 3,800 %

da g |
@) ThmE A FEE T 2,400 3R € 4,000 F
d= 2 |
B-AQN-0-KYB (39-A)

T TS § Fae 2) TER & @ g € — g
3l FRR | Q FTR W A B | T g
AR wh FRR g GOH B § | g ThgW
Y 35 @ & | 9 A 3B gTH &, C 3N
D o §, E 3l F wh-gmt @ seia wa €, A
3k E 3o 1 §, vafs Bk Fgom € |
A s sm ad 27

(a) B,C¥HRFHFE |
(b) AERFaGE |
() BAMEGH@HRAE |
(d) AR FfimaRadg

& T A, frit T 3, m@f\m

wmﬁ%mi‘sﬁtﬁﬂ
mﬁ%ﬁﬂl\wﬁ\@mm’ﬁﬁm‘i A
wa ot et T &

& B

(b) 28

(c) 32

(d) 36

fomedt wferiieft wlan # 609 qou 3R 409 nfien
qdarefi @ 1 70% ww ot 75% =mfeen
it 3 e vhew A wwa de ifim
wiewr § wm forn R 80% gov 3R 70%
afgend wwe Wl |
frfafes % | Sa smad 2 9

(a) wfgenat § wwew o IR R |

(b) TN BHAM R 50% 8 A= R |

() wfgenaii i oman g i wenm §
THA @ |

(d) 394 (a) 3N (b) S T §
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W 7% ATYHT TF UHGIOT GRS Gicid 1 T HgT A 77 75 T e

&. . 1. : B-AQN-O-KYB wdigror it TR

1,

2l

30

4.

5.
6.
7.
Bb

9,

Tfien T B g W08, A9 36 Thenn githe o ggate vy @ o % 3E Wi fae e,
H2 AN YL TAT U e Wy, anfg w g | afe e g, o 1@ wd wlerw gl @ age whifm |
FUa R 1@ % OMR s #, IRm wm W, A0 TR ok whew gfte o, (i
WE) A, B,CA D ®, AR At farnr e 9w o Rl & Wt ofk geag s #1 R

‘\ﬁfﬁﬁﬁm
ufteame it § | Rivelt oft srmme o o/ Rt 6t Feufr o e v v fon s |
T e gftr w we i Ry moAew e ow L [T S
Fgrures foreet @ | wltem e w ke g T ol (O \ LY
sa}rﬂwgﬁimﬁsum(m).ﬁqqgﬁb\i\ﬁmﬁﬁ#}aﬁdﬂ?ﬁaﬁﬁw%lm
S A 9 S (IW) R e E A o s |, B o swees W sifed wen T
¢ 1R R Y o g it e il €, o ow v @) aiften S amoe) watm o |
! 3, 4t e o @R g s W g siften Y § ) S i e e At 2Raa

\swlume) is sy e ofitrn % i siet 3 g ST i T s , e 3w

g & wra Afed agee & e g R w3 33 §

39 393 T S A IS § v B W qu vlen F WE R Faer Iwm-me o
< | AT T T e GRS 9R ) sEwi R | T

Fo T 5 foe o Tl g $ ofw § dem §

10. e 3w & foe g .

mwﬁg%qmmmﬁtﬁq?ﬁwm:
G T % o8 An dwfevs e § | IefigEn g wels 3w Iw S R, Rk i g 2,
(i w e I ; TeTd IW /A Sem, gafy fou e i A @
B 8, Retoft 3w wow % o swefvgem A1, 56 @ @ o2 R wm, a3 R de @ m——
(iif) 3R Iefiean gw ¢ v T T e 2, el FeiER g@ I R fen 9 2, @ 38 A ¥ R
Yy & T fan e |

W T 3TTw! T THIT YT e F T TG FIO 77 7w T @

Note : Fnglish version of the instructions is printed an the front, cover of this Rooklet.,
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